# Parabolic and pseudo-parabolic partial differential equations* 

By Tsuan Wu Ting

(Received June 13, 1967)
(Revised April 15, 1969)

## § 1. Introduction.

Let $G$ be a bounded domain in an Euclidean $n$-space and $\bar{G}$ its closure. Let $C^{k}(G), 0 \leqq k<\infty$, be the class of real-valued functions defined and $k$-times continuously differentiable in $G$ and $C_{0}^{k}(G)$ the subset of $C^{k}(G)$ consisting of those functions with compact support in $G$. As usual [1-4], we denote by $\hat{H}^{k}(G)$ the pre-Hilbert space consisting of functions in $C^{k}(G)$ with finite $k$-fold Dirichlet norm, \| $\|_{k}$, and denote by $H^{k}(G)$ the Hilbert space being the completion of $\hat{H}^{k}(G)$ under the norm $\left\|\|_{k}\right.$. In a completely similar way one defines the pre-Hilbert space $\hat{H}_{0}^{k}(G)$ and the Hilbert space $H_{0}^{k}(G)$. In the following discussions the domain $G$ will be fixed. We shall for simplicity write $H_{0}^{k}$ for $H_{0}^{k}(G)$ etc.. It may be noted that $H_{0}^{0}$ is the space $L_{2}(G)$.

Consider the two self-adjoint elliptic partial differential operators,

$$
\begin{align*}
& L \equiv \sum_{i, j=1}^{n} \frac{\partial}{\partial x_{i}}\left(l_{i j}(x) \frac{\partial}{\partial x_{j}}\right)-l(x),  \tag{1.1}\\
& M \equiv \sum_{i, j=1}^{n} \frac{\partial}{\partial x_{i}}\left(m_{i j}(x) \frac{\partial}{\partial x_{j}}\right)-m(x) .
\end{align*}
$$

It will be assumed that the given real-valued functions $l_{i j}(x), l(x), m_{i j}(x)$ and $m(x)$ are bounded measurable in $G$ and that $l(x) \geqq 0, m(x) \geqq 0$ almost everywhere in $G$. Further we shall restrict $L$ and $M$ to be elliptic in the sense that there are constants $k_{L}, K_{L}, k_{M}$ and $K_{M}$ such that almost everywhere in $G$

$$
\begin{align*}
& k_{L} \sum_{i=1}^{n}\left(\xi_{i}\right)^{2} \leqq \sum_{i, j=1}^{n} l_{i j}(x) \xi_{i} \xi_{j} \leqq K_{L} \sum_{i=1}^{n}\left(\xi_{i}\right)^{2},  \tag{1.2}\\
& k_{M} \sum_{i=1}^{n}\left(\xi_{i}\right)^{2} \leqq \sum_{i, j=1}^{n} m_{i j}(x) \xi_{i} \xi_{j} \leqq K_{M} \sum_{i, j=1}^{n}\left(\xi_{i}\right)^{2},
\end{align*}
$$

for all real vectors $\xi$.

[^0]We shall be concerned with the solutions of the following initial value problems. Let $u_{0}(x)$ be a given function in $H_{0}^{1} \cap H^{2}$. Find the function $u_{\lambda}(t, x)$, $\lambda>0$, such that $u_{\lambda}(t, x)$ together with its time derivative $u_{\lambda}^{\prime}(t, x)$, defined as the limit (in $H_{0}^{1}$ ) of $\left[u_{\lambda}(t+\tau, x)-u_{\lambda}(t, x)\right] / \tau$ as $\tau \rightarrow 0$, belongs to $H_{0}^{1} \cap H^{2}$ for all $-\infty<t<\infty$ and that it satisfies the equations

$$
\begin{align*}
& u_{\lambda}^{\prime}-\frac{1}{\lambda} M u_{\lambda}^{\prime}=L u_{\lambda}, \quad-\infty<t<\infty,  \tag{1.3}\\
& u_{\lambda}(0, x)=u_{0}(x),
\end{align*}
$$

in the $\left\|\|_{1}\right.$-norm. We shall call the differential equation in (1.3) to be pseudoparabolic. It differs from the parabolic one by the additional higher order terms,

$$
\frac{1}{\lambda} \sum_{i, j=1}^{n} \frac{\partial}{\partial x_{i}}\left[m_{i j}(x) \frac{\partial}{\partial x_{j}} \frac{\partial}{\partial t} u_{\lambda}\right]
$$

where the parameter $\lambda$ is restricted to be positive. Although no such type of equations has been proposed in the theory of heat conductions at the present time, it appears in theory of non-Newtonian fluids as well as soil mechanics, [6-9].

It is known [10] that a unique solution of the problem (1.3) exists and that the solution is just as regular as the coefficients and the initial conditions permit it to be. Indeed, for all positive numbers $\lambda$ the operator $\lambda-M$ has a bounded inverse $(\lambda-M)^{-1}$, [4], the operator $\lambda(\lambda-M)^{-1} L$ as a mapping of $H_{0}^{1}$ onto $H_{0}^{1}$ is bounded with respect to the norm $\left\|\|_{1}\right.$ and the unique solution $u_{\lambda}(t, x)$ is given by the formula [10],

$$
\begin{equation*}
u_{\lambda}(t, x) \equiv E_{\lambda}(t) u_{0}(x), \quad-\infty<t<\infty, \tag{1.4}
\end{equation*}
$$

where $\lambda$ is a positive number and where the group of operators $E_{\lambda}(t)$ which map $H_{0}^{1}$ onto $H_{0}^{1}$ is defined by

$$
\begin{equation*}
E_{\lambda}(t) \equiv \exp \left[t \lambda(\lambda-M)^{-1} L\right], \quad \lambda>0, \quad-\infty<t<\infty \tag{1.5}
\end{equation*}
$$

The objective of this note is to study the limiting behavior of the solutions $u_{\lambda}(t, x)$ as $\lambda \rightarrow \infty$. To this end, we consider the following parabolic initial-value problem [4]. Let $u_{0}(x)$ be a given function in $H_{0}^{0}$. Find the function $u(t, x)$ such that $u(t, x)$ together with its time derivative $u_{t}(t, x)$, defined as the limit (in $H_{0}^{0}$ ) of $[u(t+\tau, x)-u(t, x)] / \tau$ as $\tau \rightarrow 0$ if $t>0$ or as $\tau \downarrow 0$ if $t=0$, belongs to $H_{0}^{0}$ for all $t \geqq 0$ and that it satisfies the equations,

$$
\begin{align*}
& u_{t}=L u, \quad t \geqq 0,  \tag{1.6}\\
& u(0, x)=u_{0}(x),
\end{align*}
$$

in the $\left\|\|_{0}\right.$-norm. It is known [4] that a unique solution to problem (1.6) exists. Indeed, we can define the semi-group of operators on $H_{0}^{0}$,

$$
\begin{equation*}
E_{\lambda}(t) \equiv \exp \left[t \lambda(\lambda-L)^{-1} L\right], \quad t \geqq 0, \tag{1.7}
\end{equation*}
$$

and the solution $u(t, x)$ of (1.6) is given by

$$
\begin{equation*}
u(t, x) \equiv E(t) u_{0}(x), \quad t \geqq 0, \tag{1.8}
\end{equation*}
$$

where $E(t)$ is the strong $\left\|\|_{0}\right.$-limit of $E_{\lambda}(t)$ as $\lambda \rightarrow \infty,[\mathbf{1}, 4]$.
To establish the limiting behavior of the solutions, $u_{\lambda}(t, x)$ as $\lambda \rightarrow \infty$, we add the following additional restrictions on the coefficients of the operators $L$ and $M$ and on the boundary, $\partial G$, of $G$. Some of these restrictions may not be really needed for our results to be true, but to overcome certain technical difficulties we have made use of the a priori $L_{2}$ estimates for the solutions of the elliptic partial differential equations, [2, 16-18]. Our assumptions on $L, M$ and the domain $G$ are as follows:
(1.9) The functions $l_{i j}(x)$ and $m_{i j}(x)$ are in $C^{3}(\bar{G}), l(x)$ and $m(x)$ are in $C^{2}(\bar{G})$ and $m_{i j}(x)$ has a modulus of continuity for $i, j=1,2, \cdots, n$;
(1.10) $\partial G$ can be covered by a finite number of $n$-dimensional neighborhoods $N_{j}$ such that each $\bar{N}_{j} \cap \bar{G}$ can be mapped in a 1-1 way onto the closure of an $n$-dimensional hemisphere $\Sigma$, with $\bar{N}_{j} \cap \partial G$ mapped onto the flat face of $\Sigma$, by a mapping $T_{j}$ which together with its inverse has continuous and bounded first two derivatives, [16, pp. 704-706].

Having described the above two types of problems and the additional restrictions on $L, M$ and $G$, we now state our results as a

Theorem. If the problems (1.3) and (1.6) are posed for the same domain $G$ and with the same initial condition $u_{0}(x)$ in $H_{0}^{1} \cap H^{2}$ and if the assumptions in (1.9) and (1.10) are satisfied by $L, M$ and $G$, then for all $t \geqq 0$ the solution $u(t, x)$ of the problem (1.6) is the $\left\|\|_{0}\right.$-limit of the solutions $u_{\lambda}(t, x)$ of the problems (1.3), i.e.,

$$
\lim _{\lambda \rightarrow \infty}\left\|u_{\lambda}(t, x)-u(t, x)\right\|_{0}=0, \quad t \geqq 0 .
$$

## § 2. Proof of the Theorem.

We shall follow Yosida's idea in his proof of Hille-Yosida Theorem, [5, 12]. An additional case should be taken for the fact that the problems (1.3) and (1.6) involve two different norms. Also, instead of the semi-group of operators in (1.7) we now have the group of operators in (1.5) which differ from (1.7) in replacing $(\lambda-L)^{-1}$ by $(\lambda-M)^{-1}$ with $M$ being an arbitrary elliptic differential operator. To overcome this difficulty we introduce on $H_{0}^{1}$ one-parameter family of norms induced by the elliptic differential operator $M$, namely,

$$
\begin{equation*}
p\{u ; \lambda-M\} \equiv((\lambda-M) u, u)^{1 / 2}, \quad u \in H_{0}^{1}, \tag{2.1}
\end{equation*}
$$

where

$$
((\lambda-M) u, u) \equiv \int_{G}\left\{\sum_{i, j=1}^{n} m_{i j}(x) \frac{\partial u}{\partial x_{i}} \frac{\partial u}{\partial \bar{x}_{j}}+(m(x)+\lambda) u^{2}(x)\right\} d x .
$$

It is clear that for all positive finite $\lambda, \frac{1}{\sqrt{ } \lambda} p\{; \lambda-M\}$ and $\left\|\|_{1}\right.$ are equivalent norms on the space $H_{0}^{1}$. On the other hand for fixed $u$ in $H_{0}^{1}$ we have

$$
\lim _{\lambda \rightarrow \infty} \frac{1}{\sqrt{ } \lambda} p\{u ; \lambda-M\}=\|u\|_{0}
$$

To prove the theorem we first show that for all $t \geqq 0$ and for all $u$ in $H_{0}^{3} \cap H^{4}$

$$
\begin{equation*}
\left\|E_{\lambda}(t) u-E_{\mu u}(t) u\right\|_{0} \rightarrow 0 \quad \text { as } \quad \lambda, \mu \rightarrow \infty \tag{2.2}
\end{equation*}
$$

so that we can define an operator $E(t)$ on the subspace $H_{0}^{3} \cap H^{4}$ of $H_{0}^{0}$ as the strong $\left\|\|_{0}\right.$-limit of $E_{\lambda}(t)$ as $\lambda \rightarrow \infty$. We then proceed to verify that the operator $E(t)$ so defined is bounded with respect to the norm $\left\|\|_{0}\right.$. Since $H_{0}^{3} \cap H^{4}$ is $\left\|\|_{0}\right.$-dense in $H_{0}^{0}$, we can extend $E(t)$ to the whole space $H_{0}^{0}$ by continuity. Our proof is then completed by verifying that for all $u_{0}$ in $H_{0}^{1} \cap H^{2}$ the function defined by $u(t, x) \equiv E(t) u_{0}(x), t \geqq 0$, solves the parabolic initial-value problem (1.6).

To establish the limit relations in (2.2) we shall always, without loss of generality, assume $\mu>\lambda$ and proceed to show that for every $u$ in $H_{0}^{3} \cap H^{4}$ and for all $t \geqq 0$,

$$
\begin{equation*}
\frac{1}{\sqrt{\lambda}} p\left\{E_{\lambda}(t) u-E_{\mu}(t) u ; \lambda-M\right\} \rightarrow 0 \quad \text { as } \quad \lambda \rightarrow \infty . \tag{2.3}
\end{equation*}
$$

Indeed, for every positive $\lambda$ and $\mu$ and non-negative $t$

$$
\begin{equation*}
\frac{1}{\sqrt{\lambda}} p\left\{E_{\lambda}(t) u-E_{\mu}(t) u ; \lambda-M\right\} \geqq\left\|E_{\lambda}(t) u-E_{\mu}(t) u\right\|_{0} . \tag{2.4}
\end{equation*}
$$

Hence (2.2) is a direct consequence of (2.3).
To establish the limit relations in (2.3) we note that for every positive number $\lambda$ the generator,

$$
\begin{equation*}
A_{\lambda} \equiv \lambda(\lambda-M)^{-1} L \tag{2.5}
\end{equation*}
$$

is bounded as a one-one mapping of $H_{0}^{1}$ onto $H_{0}^{1}$. Hence its exponential,

$$
\begin{equation*}
E_{\lambda}(t) \equiv \exp \left[t A_{\lambda}\right], \quad t \geqq 0, \quad \lambda>0, \tag{2.6}
\end{equation*}
$$

is also a bounded operator with respect to the norm $\left\|\|_{1}\right.$ and that $E_{\lambda}(0)=I$, [10].

Basing on Poincaré's inequality and the restrictions in (1.2) for $L$ and $M$, we can choose, with $L$ and $M$ being fixed, a constant $c$ so large that for all $u$ in $H_{0}^{1}$

$$
\begin{equation*}
\left(-\frac{1}{c} L u, u\right) \leqq(-M u, u) . \tag{2.7}
\end{equation*}
$$

Upon writing $L / c \equiv N$, we have the following decomposition for $A_{\lambda}$ on the space $H_{0}^{1}$ :

$$
\begin{equation*}
A_{\lambda}=-c \lambda+c \lambda(\lambda-M)^{-1}(\lambda-M+N), \quad \lambda>0 . \tag{2.8}
\end{equation*}
$$

It is easy to verify that the operator $(\lambda-M)^{-1}(\lambda-M+N)$ is also bounded with respect to the norm $\left\|\|_{1}\right.$ as a mapping of $H_{0}^{1}$ onto $H_{0}^{1}$. Consequently, we can extract a scalar factor from the operator $E_{\lambda}(t)$ as follows:

$$
\begin{equation*}
E_{\lambda}(t)=\exp [-c t \lambda] \cdot \exp \left[c t \lambda(\lambda-M)^{-1}(\lambda-M+N)\right], \quad \lambda>0, \quad t \geqq 0 . \tag{2.9}
\end{equation*}
$$

For simplicity we shall write

$$
\begin{equation*}
B_{\lambda} \equiv(\lambda-M)^{-1}(\lambda-M+N), \tag{2.10}
\end{equation*}
$$

and proceed to show that for every $u$ in $H_{0}^{1}$

$$
\begin{equation*}
p\left\{B_{\lambda} u ; \lambda-M\right\} \leqq\left(1-\frac{k}{\lambda}\right) p\{u ; \lambda-M\} \tag{2.11}
\end{equation*}
$$

where $k$ is a positive constant depending only on $L$ and $M$ and the domain $G$. That is, the operator $B_{\lambda}$ in (2.10) maps $H_{0}^{1}$ into $H_{0}^{1}$ and it is bounded by $1-k / \lambda$ with respect to the norm $p\{; \lambda-M\}$. To establish the essential inequality (2.11) we first appeal to direct computation to obtain the identity,

$$
\begin{align*}
{\left[p\left\{B_{\lambda} u ; \lambda-M\right\}\right]^{2} } & =\left((\lambda-M+N) u, u+(\lambda-M)^{-1} N u\right)  \tag{2.12}\\
& =[p\{u ; \lambda-M\}]^{2}+2(N u, u)+\left(N u,(\lambda-M)^{-1} N u\right) .
\end{align*}
$$

Next we give an estimate for the last term on the right-hand side of (2.12) so as to transform it into an inequality. Indeed,

$$
\begin{aligned}
\left(N u,(\lambda-M)^{-1} N u\right) & =\left(-N u,(\lambda-M)^{-1}(-N u)\right) \\
& \leqq(-N u, u)^{1 / 2}\left(-N(\lambda-M)^{-1}(-N u),(\lambda-M)^{-1}(-N u)\right)^{1 / 2} \\
& \leqq(-N u, u)^{1 / 2}\left((\lambda-M)(\lambda-M)^{-1}(-N u),(\lambda-M)^{-1}(-N u)\right)^{1 / 2} \\
& \leqq(-N u, u)^{1 / 2}\left(-N u,(\lambda-M)^{-1}(-N u)\right)^{1 / 2},
\end{aligned}
$$

where the first inequality is that of Schwarz and the second inequality follows from the choice of the constant $c$ in (2.7), After cancelling the common factor from the both sides of the above inequality, we obtain the desired estimate,

$$
\begin{equation*}
\left(N u,(\lambda-M)^{-1} N u\right) \leqq(-N u, u) \tag{2.13}
\end{equation*}
$$

Upon applying the inequality (2.13) to the last term on the right-hand side of the identity (2.12), it yields

$$
\begin{align*}
{\left[p\left\{B_{\lambda} u ; \lambda-M\right\}\right]^{2} } & \leqq[p\{u ; \lambda-M\}]^{2}-[p\{u ;-N\}]^{2}  \tag{2.14}\\
& =\left\{1-\left[\begin{array}{c}
p\{u ;-N\} \\
p\{u ; \lambda-M\}
\end{array}\right]^{2}\right\}[p\{u ; \lambda-M\}]^{2},
\end{align*}
$$

where $p\{u ;-N\} \equiv(-N u, u)^{1 / 2}$. According to Poincaré there is a constant $k_{1}$ independent of $u$ such that

$$
\begin{equation*}
k_{1}(-N u, u) \geqq(u, u) \quad \text { for all } u \text { in } H_{0}^{1} \tag{2.15}
\end{equation*}
$$

Since $N \equiv L / c$ with $c$ being chosen in (2.7), it is clear that we can also choose a constant $c_{1}$ so large that

$$
\begin{equation*}
c_{1}(-N u, u) \geqq(-M u, u) \quad \text { for all } \quad u \text { in } H_{0}^{1} . \tag{2.16}
\end{equation*}
$$

Accordingly, we have, for all $u$ in $H_{0}^{1}$,

$$
\begin{align*}
\frac{(-N u, u)}{\lambda(u, u)+(-M u, u)} & \geqq \frac{1}{\lambda k_{1}}\left[\frac{\lambda(u, u)}{\lambda(u, u)+(-M u, u)}\right]  \tag{2.17}\\
& =\frac{1}{\lambda k_{1}}\left[1-\frac{(-M u, u)}{\lambda(u, u)+(-M u, u)}\right] \\
& \geqq \frac{1}{\lambda k_{1}}\left[1-\frac{c_{1}(-N u, u)}{\lambda(u, u)+(-M u, u)}\right]
\end{align*}
$$

where the first and the second inequalities follow from the choices of the constants $k_{1}$ and $c_{1}$ in (2.15) and (2.16) respectively. Upon solving (2.17) and restricting $\lambda \geqq 1$, we find

$$
\begin{align*}
{\left[\frac{p\{u ;-N\}}{p\{u ; \lambda-M\}}\right]^{2} } & \geqq \frac{1}{1+c_{1} / \lambda k_{1}} \cdot \frac{1}{\lambda k_{1}} \geqq-\frac{1}{\lambda} \frac{1}{c_{1}+k_{1}}  \tag{2.18}\\
& \geqq k_{2} / \lambda, \quad k_{2} \equiv 1 /\left(c_{1}+k_{1}\right)
\end{align*}
$$

Thus, (2.11) follows from (2.14) and (2.18) by setting $k \equiv k_{2} / 2$. The above proof shows that $k$ depends only on $L, M$ and $G$. For the following application, we emphasize that $k$ is independent of the function $u$ as well as the parameter $\lambda \geqq 1$.

We proceed to combine the identity (2.9) and the inequality (2.11) to derive an estimate for $p\left\{E_{\lambda}(t) u ; \lambda-M\right\}$ for all $u$ in $H_{0}^{1}$. Indeed, for all $u$ in $H_{0}^{1}$ one has

$$
\begin{align*}
p\left\{E_{\lambda}(t) u ; \lambda-M\right\} & =\exp [-c t \lambda] \cdot p\left\{\exp \left[c t \lambda B_{\lambda}\right] \cdot u ; \lambda-M\right\}  \tag{2.19}\\
& \leqq \exp [-c t \lambda] \cdot \exp \left[c t \lambda p\left\{B_{\lambda} ; \lambda-M\right\}\right] \cdot p\{u ; \lambda-M\} \\
& \leqq \exp [-c t \lambda] \cdot \exp \left[c t \lambda\left(1-\frac{k}{\lambda}\right)\right] \cdot p\{u ; \lambda-M\} \\
& \leqq \exp [-c t k] \cdot p\{u ; \lambda-M\}
\end{align*}
$$

with $c, k>0$ and $t \geqq 0$. This proves that for all $t \geqq 0$ the one-parameter family
of operators $E_{\lambda}(t), \lambda>0$, are uniformly bounded with respect to the corresponding one-parameter family of norms $p\{; \lambda-M\}$. More precisely, as a mapping of $H_{0}^{1}$ onto $H_{0}^{1}$

$$
\begin{equation*}
p\left\{E_{\lambda}(t) ; \lambda-M\right\} \leqq \exp [-c k t], \quad c, k>0, \quad t \geqq 0, \tag{2.20}
\end{equation*}
$$

where the constants $c$ and $k$ depend only on $L$ and $M$ and the domain $G$. This accomplishes the first step of the proof.

Our next step is to derive certain estimates for $p\left\{\left(A_{\lambda}-A_{\mu}\right) u ; 1-M / \lambda\right\}$. First, we shall derive the following identity which holds for all numbers $\lambda$ and $\mu$ with $\mu>\lambda>0$ and for all $u$ in $H_{0}^{1} \cap H^{2}$,

$$
\begin{equation*}
\left[p\left\{\left(A_{\lambda}-A_{\mu}\right) u ; 1-\frac{M}{\lambda}\right\}\right]^{2}=\left(\frac{1}{\lambda}-\frac{1}{\mu}\right)^{2}\left(\left(1-\frac{M}{\lambda}\right)^{-1} M A_{\mu} u, M A_{\mu} u\right) \tag{2.21}
\end{equation*}
$$

Indeed, direct computation gives that for all $u$ in $H_{0}^{1} \cap H^{2}$ and for all numbers $\lambda$ and $\mu$ with $\mu>\lambda>0$

$$
\begin{equation*}
\left(1-\frac{M}{\lambda}\right)\left(A_{\lambda}-A_{\mu}\right) u=\left(\frac{1}{\lambda}-\frac{1}{\mu}\right) M A_{\mu} u . \tag{2.22}
\end{equation*}
$$

By applying the operator $(1-M / \lambda)^{-1}$ on the left to the both sides of the above identity, we find that

$$
\begin{equation*}
\left(A_{\lambda}-A_{\mu}\right) u=\left(\frac{1}{\lambda^{-}}-\frac{1}{\mu}\right)\left(1-\frac{M}{\lambda}\right)^{-1} M A_{\mu} u . \tag{2.23}
\end{equation*}
$$

Upon taking the inner product of the corresponding sides of (2.22) and (2.23) we obtain the desired identity (2.21). The usefulness of such an identity lies. in the fact that it expresses the norm of $\left(A_{\lambda}-A_{\mu}\right) u$ in terms of a functional on $A_{\mu} u$ alone which is easier to be estimated.

We proceed now to transform the identity in (2.21) into an inequality. To this end, we consider two functions $v, w$ in $H_{0}^{1} \cap H^{2}$ such that

$$
\begin{equation*}
M w=L v, \quad \text { i. e., } \quad w=M^{-1} L v . \tag{2.24}
\end{equation*}
$$

For all $v, w$ in $H_{0}^{1} \cap H^{2}$ and related by (2.24) we have

$$
\begin{align*}
(-M w, w)^{1 / 2}(-M v, v)^{1 / 2} & \geqq(-M w, v)  \tag{2.25}\\
& =(-L v, v) \\
& \geqq \frac{1}{k^{\prime}}(-M v, v),
\end{align*}
$$

where the positive constant $k^{\prime}$ depends only on $L, M$ and $G$ and is independent of $v$ and $w$. On the other hand, by the same argument as for deriving the estimate in (2.13) we also have that for all $v$ in $H_{0}^{1} \cap H^{2}$ and for all $\lambda>0$,

$$
\begin{equation*}
\left(\left(1-\frac{M}{\lambda^{-}}\right)^{-1} M v, M v\right) \leqq \lambda(-M v, v) \tag{2.26}
\end{equation*}
$$

Thus, we have from (2.25) and (2.26) that for all $v, w$ in $H_{0}^{1} \cap H^{2}$ and for all $\lambda>0$,

$$
\begin{equation*}
\left(\left(1-\frac{M}{\lambda}\right)^{-1} M v, M v\right) \leqq \lambda\left(k^{\prime}\right)^{2}(-M w, w), \tag{2.27}
\end{equation*}
$$

where $w \equiv M^{-1} L v$.
We wish to compare the value of the expression on the left of (2.27) with $\left((1-M / \mu)^{-1} L v, L v\right), \mu>\lambda$. To this end, we note that the fractional power, $(-M)^{1 / 2}$, of the self-adjoint elliptic partial differential operator $M$ can be defined [1, 13-15]. Furthermore, it is known [14, II] that $(-M)^{1 / 2}$ is also self-adjoint and it commutes with $(1-M / \mu)^{-1}$ on the domain of $(-M)^{1 / 2}$ and that for all $u, v$ in $H_{0}^{1}$

$$
\begin{equation*}
(-M u, v)=\left((-M)^{1 / 2} u,(-M)^{1 / 2} v\right)=(u,-M v) . \tag{2.28}
\end{equation*}
$$

Consequently, for all $v$ in $H_{0}^{1} \cap H^{2}$ and for all $\mu>\lambda>0$,

$$
\begin{align*}
& \left((1-M / \mu)^{-1} L v, L v\right)  \tag{2.29}\\
& \quad=\left((1-M / \mu)^{-1} M M^{-1} L v, M M^{-1} L v\right) \\
& \quad=\left((1-M / \mu)^{-1} M w, M w\right) \\
& \quad=\mu\left\{(-M w, w)-\mu\left((\mu-M)^{-1} w,-M w\right)\right\} \\
& \quad=\mu\left\{(-M w, w)-\mu\left((\mu-M)^{-1}(-M)^{1 / 2} w,(-M)^{1 / 2} w\right)\right\},
\end{align*}
$$

where the second equality sign follows from the defining relation in (2.24) and the last one follows from the non-trivial identities in (2.28) and from the commutativity of $(-M)^{1 / 2}$ and $(1-M / \mu)^{-1}$ on $H_{0}^{1}$. Now

$$
\begin{align*}
& \mu\left((\mu-M)^{-1}(-M)^{1 / 2} w,(-M)^{1 / 2} w\right)  \tag{2.30}\\
& \quad \leqq \mu\left\|(\mu-M)^{-1}(-M)^{1 / 2} w\right\|_{0}\left\|(-M)^{1 / 2} w\right\|_{0} \\
& \quad \leqq \mu\left\|(\mu-M)^{-1}\right\|_{0}\left\|(-M)^{1 / 2} w\right\|_{0}^{2} \\
& \quad \leqq \frac{\mu}{\mu+k^{\prime \prime}}\left((-M)^{1 / 2} w,(-M)^{1 / 2} w\right) \\
& \quad=\frac{\mu}{\mu+k^{\prime \prime}}(-M w, w),
\end{align*}
$$

where the positive constant $k^{\prime \prime}$ depends only on $M$ and $G$ and is independent of $\lambda, \mu$ and $w$, and the last equality sign again follows from the identities in (2.28), By combining (2.29) and (2.30) it follows that for all $v$ in $H_{0}^{1} \cap H^{2}$ and for all numbers $\lambda$ and $\mu$ with $\mu>\lambda>0$,

$$
\begin{align*}
\left(\left(1-\frac{M}{\mu}\right)^{-1} L v, L v\right) & \geqq \mu\left\{\left(1-\frac{\mu}{\mu+k^{\prime \prime}}\right)(-M w, w)\right\}  \tag{2.31}\\
& =\frac{k^{\prime \prime} \mu}{\mu+k^{\prime \prime}}(-M w, w)
\end{align*}
$$

where $w \equiv M^{-1} L v$.
Thus, we conclude from the inequalities in (2.27) and (2.31) that for all $v$ in $H_{0}^{1} \cap H^{2}$ and for all $\mu>\lambda>0$,

$$
\begin{equation*}
\left(\left(1-\frac{M}{\lambda}\right)^{-1} M v, M v\right) \leqq \frac{\lambda\left(k^{\prime}\right)^{2}\left(\mu+k^{\prime \prime}\right)}{k^{\prime \prime} \mu}\left(\left(1-\frac{M}{\mu}\right)^{-1} L v, L v\right), \tag{2.32}
\end{equation*}
$$

where $k^{\prime}$ depends only on $L, M$ and $G$ and $k^{\prime \prime}$ depends only on $M$ and $G$.
For every given $\lambda>0, A_{\lambda}$ is bounded as a one-one mapping of $H_{0}^{1}$ onto $H_{0}^{1}$. So is $A_{\lambda} E_{\lambda}(t-s)$ for all $0<t-s<\infty$. Consequently, for all $\mu>\lambda>0$,

$$
\begin{align*}
& \left(\left(1-\frac{M}{\lambda^{-}}\right)\left(A_{\lambda}-A_{\mu}\right) E_{\mu}(t-s) u,\left(A_{\lambda}-A_{\mu}\right) E_{\mu}(t-s) u\right)  \tag{2.33}\\
& \quad=\left(\frac{1}{\lambda}-\frac{1}{\mu}\right)^{2}\left(\left(1-\frac{M}{\lambda^{-}}\right)^{-1} M A_{\mu} E_{\mu}(t-s) u, M A_{\mu} E_{\mu}(t-s) u\right) \\
& \quad \leqq\left(1-\frac{\lambda}{\mu}\right)^{2} \frac{\mu+k^{\prime \prime}}{\mu k^{\prime \prime}} \frac{\left(k^{\prime}\right)^{2}}{\lambda}\left(\left(1-\frac{M}{\mu}\right)^{-1} L A_{\mu} E_{\mu}(t-s) u, L A_{\mu} E_{\mu}(t-s) u\right) \\
& \quad=\left(1-\frac{\lambda}{\mu}\right)^{2} \frac{\mu+k^{\prime \prime}}{\mu k^{\prime \prime}} \frac{\left(k^{\prime}\right)^{2}}{\lambda}\left(A_{\mu}^{2} E_{\mu}(t-s) u,\left(1-\frac{M}{\mu}\right) A_{\mu}^{2} E_{\mu}(t-s) u\right) \\
& \quad=\left(1-\frac{\lambda}{\mu}\right)^{2} \frac{\mu+k^{\prime \prime}}{\mu k^{\prime \prime}} \frac{\left(k^{\prime}\right)^{2}}{\lambda}\left(\left(1-\frac{M}{\mu}\right) E_{\mu}(t-s) A_{\mu}^{2} u, E_{\mu}(t-s) A_{\mu}^{2} u\right),
\end{align*}
$$

where the first equality sign follows from the identity in (2.21), the inequality sign follows from (2.32), the second equality sign follows from the definition of $A_{\mu}$ in (2.5) and the last equality sign follows from the commutativity of $A_{\mu}$ and $E_{\mu}$. Indeed, it is to make use of the commutativity of $A_{\mu}$ and $E_{\mu}$ that we derived the estimate in (2.32) to replace the operator $M$ by $L$ and to replace $(1-M / \lambda)^{-1}$ by $(1-M / \mu)^{-1}$.

We have established the uniform boundedness of the operators $E_{\lambda}(t)$ in (2.20) and the essential inequality (2.33). To establish (2.3) we still need the following fact, namely, for all $\lambda>0$ and for all $t$

$$
\lim _{\tau \rightarrow 0} p\left\{\frac{1}{\tau}\left[E_{\lambda}(t+\tau)-E_{\lambda}(t)\right] u-A_{\lambda} E_{\lambda}(t) u ; 1-M / \lambda\right\}=0
$$

for all $u$ in $H_{0}^{1} \cap H^{2}$. That is,

$$
\begin{equation*}
\frac{d}{d t} E_{\lambda}(t)=A_{\lambda} E_{\lambda}(t), \quad \lambda>0, \quad-\infty<t<\infty, \tag{2.34}
\end{equation*}
$$

in the strong sense with respect to the norm, $p\{; 1-M / \lambda\}$. To establish the formulas in (2.34) we note the group property of the operators $E_{\lambda}(t)$,

$$
E_{\lambda}\left(t_{1}+t_{2}\right)=E_{\lambda}\left(t_{1}\right) E_{\lambda}\left(t_{2}\right), \quad-\infty<t_{1}, t_{2}<\infty,
$$

with respect to the operator topology induced by the norm, $p\{; 1-M / \lambda\}$. Thus,

$$
\begin{align*}
& \lim _{\tau \rightarrow 0} p\left\{\frac{1}{\tau}\left[E_{\lambda}(t+\tau)-E_{\lambda}(t)\right] u-A_{\lambda} E_{\lambda}(t) u ; 1-M / \lambda\right\}  \tag{2.35}\\
& \quad=\lim _{\tau \rightarrow 0} p\left\{\frac{1}{\tau}\left[E_{\lambda}(\tau)-1-\tau A_{\lambda}\right] E_{\lambda}(t) u ; 1-M / \lambda\right\} \\
& \\
& \leqq p\left\{E_{\lambda}(t) ; 1-\frac{M}{\lambda}\right\} \cdot \lim _{\tau \rightarrow 0} p\left\{\frac{1}{\tau}\left[E_{\lambda}(\tau)-1-\tau A_{\lambda}\right] u ; 1-M / \lambda\right\} \\
& \\
& \leqq e^{-c k t} p\{u ; 1-M / \lambda\} \cdot \lim _{\tau \rightarrow 0} p\left\{\frac{1}{\tau}\left[E_{\lambda}(\tau)-1-\tau A_{\lambda}\right] ; 1-M / \lambda\right\} \\
& \\
& \leqq e^{-c c t} \cdot p\{u ; 1-M / \lambda\} \lim _{\tau \rightarrow 0} \sum_{n=2}^{\infty} \tau^{n-1}\left[p\left\{A_{\lambda} ; 1-\frac{M}{\lambda}\right\}\right]^{n} / n!,
\end{align*}
$$

where we have used the estimates in (2.11) and (2.20). Since for all $u$ in $H_{0}^{1} \cap H^{2}$,

$$
\left[p\left\{A_{\lambda} u ; 1-\frac{M}{\lambda}\right\}\right]^{2}=\lambda\left((\lambda-M)^{-1} L u, L u\right), \quad \lambda>0
$$

and that analogous to (2.13)

$$
\lambda\left((\lambda-M)^{-1} L u, L u\right) \leqq c \lambda(-L u, u) \leqq k_{3}^{2}((1-M / \lambda) u, u)
$$

with $k_{3}$ being a positive constant depending only on $\lambda, L, M$ and the domain G. Thus,

$$
\begin{equation*}
p\left\{A_{\lambda} ; 1-M / \lambda\right\} \leqq k_{3} . \tag{2.36}
\end{equation*}
$$

Hence our formulas in (2.34) follow from (2.35) and (2.36). In an analogous way, we can also establish the formula,

$$
\begin{equation*}
\frac{d}{d t} E_{\lambda}(t) E_{\mu}(t)=E_{\lambda}(t)\left(A_{\lambda}+A_{\mu}\right) E_{\mu}(t) \tag{2.37}
\end{equation*}
$$

which holds in the strong sense with respect to the norm, $p\{;(1-M / \lambda)\}$.
We are now ready to prove the limit relation in (2.3). For all $u$ in $H_{0}^{3} \cap H^{4}$ and for all $\mu>\lambda \geqq 1$, we have

$$
\begin{align*}
& p\left\{E_{\lambda}(t) u-E_{\mu}(t) u ; 1-M / \lambda\right\}  \tag{2.38}\\
&=p\left\{\int_{0}^{t} \frac{d}{d s}\left[E_{\lambda}(s) E_{\mu}(t-s)\right] \cdot u d s ; 1-M / \lambda\right\} \\
& \leqq\left(\frac{1}{\lambda}\right)^{1 / 2} \int_{0}^{t} p\left\{E_{\lambda}(s)\left(A_{\lambda}-A_{\mu}\right) E_{\mu}(t-s) u ; \lambda-M\right\} d s \\
& \leqq\left(\frac{1}{\lambda}\right)^{1 / 2} \int_{0}^{t} e^{-c k s} p\left\{\left(A_{\lambda}-A_{\mu}\right) E_{\mu}(t-s) u ; \lambda-M\right\} d s \\
&=\int_{0}^{t} e^{-c k s} p\left\{\left(A_{\lambda}-A_{\mu}\right) E_{\mu}(t-s) u ; 1-M / \lambda\right\} d s \\
& \leqq\left(1-\frac{\lambda}{\mu}\right)\left[\frac{\mu+k^{\prime \prime}}{\mu k^{\prime \prime}} \frac{1}{\lambda}\right]^{1 / 2} k^{\prime} \int_{0}^{t} e^{-c k s} p\left\{E_{\mu}(t-s) A_{\mu}^{2} u ; 1-\frac{M}{\mu}\right\} d s
\end{align*}
$$

$$
\begin{aligned}
& \leqq\left(1-\frac{\lambda}{\mu}\right)\left[\frac{\mu+k^{\prime \prime}}{\mu k^{\prime \prime}}-\frac{1}{\lambda}\right]^{1 / 2} k^{\prime} \int_{0}^{t} e^{-c k t} p\left\{A_{\mu}^{2} u ; 1-\frac{M}{\mu}\right\} d s \\
& =\left(1-\frac{\lambda}{\mu}\right)\left[\frac{\mu+k^{\prime \prime}}{\mu k^{\prime \prime}} \frac{1}{\lambda}\right]^{1 / 2} k^{\prime} t e^{-c k t} p\left\{A_{\mu}^{2} u ; 1-\frac{M}{\mu}\right\}
\end{aligned}
$$

where the first equality sign follows from (2.37), the second and the last inequality follow from (2.20) and the third inequality follows from (2.33). Thus, to complete our proof for (2.3) it suffices to show that for all $u$ in $H_{0}^{3} \cap H^{4}$

$$
\begin{equation*}
p\left\{A_{\mu}^{2} u ; 1-\frac{M}{\mu}\right\}<\text { const } \cdot K \tag{2.39}
\end{equation*}
$$

uniformly in $\mu$.
To establish (2.39) we first note the inequality

$$
\begin{equation*}
\left[p\left\{A_{\mu}^{2} u ; 1-\frac{M}{\mu}\right\}\right]^{2} \leqq \frac{\mu}{\mu+k^{\prime \prime}}\left\|L\left(1-\frac{M}{\mu}\right)^{-1} L u\right\|_{0}^{2} \tag{2.40}
\end{equation*}
$$

This relation indicates that the boundedness relation (2.39) seems to be a trivial one. But to prove it we shall apply the results from the a priori $L_{2}$ estimates for the solutions of elliptic partial differential equations. First, we note that $M$ and $(1-M / \mu)^{-1}$ commute on $H^{2} \cap H_{0}^{1}$. Hence, if $u$ belongs to $H_{0}^{3} \cap H^{4}$, then

$$
\begin{align*}
\left\|M\left(1-\frac{M}{\mu}\right)^{-1} L u\right\|_{0} & =\left\|\left(1-\frac{M}{\mu}\right)^{-1} M L u\right\|_{0}  \tag{2.41}\\
& \leqq \frac{\mu}{\mu+k^{\prime \prime}}\|M L u\|_{0}
\end{align*}
$$

The right-hand side of this inequality is clearly bounded uniformly in $\mu$ if $u$ is in $H_{0}^{3} \cap H^{4}$ and if the conditions in (1.9) are satisfied by the operators $L$ and M. We wish to show that for all $u$ in $H_{0}^{3} \cap H^{4}$ and for all $\lambda$ and $\mu$ with $\mu>\lambda \geqq 1$,

$$
\begin{equation*}
\left\|L\left(1-\frac{M}{\mu}\right)^{-1} L u\right\|_{0} \leqq k_{4}\left\{\left\|M\left(1-\frac{M}{\mu}\right)^{-1} L u\right\|_{0}+\|L u\|_{0}\right\} \tag{2.42}
\end{equation*}
$$

with $k_{4}$ being a constant depending only on $L, M$ and $G$ and independent of $\lambda$ and $\mu$.

To establish (2.42) we note from (1.9) that for all $w$ in $H^{2}$

$$
\begin{equation*}
\|L w\|_{0} \leqq \text { const. }\|w\|_{2} \tag{2.43}
\end{equation*}
$$

where the constant depends only on $L$ and $G$. On the other hand for a given $w$ in $H^{2}$, it may be regarded as the solution of the following Dirichlet problem, namely,

$$
M w=M w \quad \text { in } \quad G, \quad w=w \quad \text { on } \quad \partial G,
$$

where $M w$ and $w$ on the right-hand sides of the above equations are regarded to be given function while $w$ on the left is regarded as the solution function.

Since the operator $M$ and the boundary $\partial G$ satisfy the restrictions in (1.9) and (1.10) respectively, it is a well-known a priori $L_{2}$ estimate, [14, pp. 704-706], that

$$
\begin{align*}
\|w\|_{2} & \leqq \text { const. }\left\{\|M w\|_{0}+\|w\|_{2-1 / 2}+\|w\|_{0}\right\}  \tag{2.44}\\
& \leqq \text { const. }\left\{\|M w\|_{0}+\|w\|_{2-1 / 2}\right\},
\end{align*}
$$

where the constant depends only on $M$ and $G$ and where

$$
\begin{equation*}
\|w\|_{2-1 / 2} \equiv \text { g. 1. b. }\|v\|_{2}, \quad v \in H^{2}, \quad v=w \quad \text { on } \quad \partial G . \tag{2.45}
\end{equation*}
$$

By combining (2.43) and (2.44) we conclude that

$$
\begin{equation*}
\|L w\|_{0} \leqq k\left\{\|M w\|_{0}+\|w\|_{2-1 / 2}\right\}, \quad w \in H^{2} \tag{2.45’}
\end{equation*}
$$

with $k$ being a constant depending only on $L, M$ and $G$. To see (2.42) is, indeed, valid we recall that the operator $(1-M / \mu)^{-1}$ was so uniquely defined that $(1-M / \mu)^{-1} L u$ is the unique solution of the Dirichlet problem:

$$
\left(1-\frac{M}{\mu}\right) v=L u, \quad v \in H_{0}^{1} \cap H^{2} .
$$

It follows that

$$
\left(1-\frac{M}{\mu}\right)^{-1} L u \in H_{0}^{1} \cap H^{2}, \quad 0<\mu<\infty .
$$

Furthermore, it is easy to see that

$$
\lim _{\mu \rightarrow \infty}\left\|(1-M / \mu)^{-1} L u-L u\right\|_{0}=0 .
$$

Thus, our estimate (2.42) follows from ( $2.45^{\prime}-2.45^{\prime \prime \prime}$ ).
Now, we have from (2.40), (2.41) and (2.42) that for all $u$ in $H_{0}^{3} \rho H^{4}$ and for all $\mu>\lambda \geqq 1$,

$$
\begin{align*}
p\left\{A_{\mu}^{2} u ; 1-\frac{M}{\mu}\right\} & \leqq k_{4}\left\{\left\|M\left(1-\frac{M}{\mu}\right)^{-1} L u\right\|_{0}+\|L u\|_{2}\right\}\left[\frac{\mu}{\mu+k^{\prime \prime}}\right]^{1 / 2}  \tag{2.46}\\
& \leqq k_{4}\left\{\frac{\mu}{\mu+k^{\prime \prime}}\|M L u\|_{0}+\|L u\|_{2}\right\}\left[\begin{array}{c}
\mu \\
\mu+k^{\prime \prime}
\end{array}\right]^{1 / 2} .
\end{align*}
$$

By combining the inequalities (2.38) and (2.46), it follows that for all $u$ in $H_{0}^{3} \cap H^{4}$ and for all $\mu>\lambda \geqq 1$,

$$
\begin{align*}
& p\left\{E_{\lambda}(t) u-E_{\mu}(t) u ; 1-M / \lambda\right\}  \tag{2.47}\\
& \quad \leqq\left(1-\frac{\lambda}{\mu}\right)\left(\frac{1}{k^{\prime \prime} \lambda}\right)^{1 / 2} k^{\prime} k_{4} e^{-c k t}\left[\frac{\mu}{\mu+k^{\prime \prime}}\|M L u\|_{0}+\|L u\|_{2}\right] .
\end{align*}
$$

Since the restrictions in (1.9) ensure that $\|M L u\|_{0}$ and $\|L u\|_{2}$ are finite for all $u$ in $H_{0}^{3} \cap H^{4}$, our assertion (2.3) follows immediately from (2.47),

To complete the proof of the theorem we can now define the operator $E(t)$ on the subspace $H_{0}^{3} \cap H^{4}$ of $H_{0}^{0}$ by the formula,

$$
\begin{equation*}
E(t) u=\lim _{\lambda \rightarrow \infty} E_{\lambda}(t) u \tag{2.48}
\end{equation*}
$$

in the $\left\|\|_{0}\right.$-norm. It follows that for all $u$ in $H_{0}^{3} \cap H^{4}$

$$
\begin{aligned}
\|E(t) u\|_{0} & =\lim _{\lambda \rightarrow \infty}\left\|E_{\lambda}(t) u\right\|_{0} \\
& \leqq \lim _{\lambda \rightarrow \infty} p\left\{E_{\lambda}(t) u ; 1-M / \lambda\right\} \\
& \leqq e^{-c k t} \lim _{\lambda \rightarrow \infty} p\{u ; 1-M / \lambda\} \\
& \leqq e^{-c k t}\left\{\|u\|_{0}^{2}+\lim _{\lambda \rightarrow \infty} \frac{1}{\lambda^{-}}(-M u, u)\right\}^{1 / 2} \\
& \leqq e^{-c k t}\|u\|_{0} .
\end{aligned}
$$

This proves that $E(t)$ is bounded on the subspace $H_{0}^{3} \cap H^{4}$. Since the later set is $\left\|\|_{0}\right.$-dense in $H_{0}^{0}$, we may extend $E(t)$ to the whole space $H_{0}^{0}$ by continuity.

As has been shown that for all $\lambda>0,-\infty<t_{1}, t_{2}<\infty$,

$$
p\left\{\left(E_{\lambda}\left(t_{1}+t_{2}\right)-E_{\lambda}\left(t_{1}\right) E_{\lambda}\left(t_{2}\right)\right) u ; 1-M / \lambda\right\}=0, \quad u \in H_{0}^{3} \cap H^{4} .
$$

This implies that for all $\lambda>0,-\infty<t_{1}, t_{2}<\infty$

$$
\left\|E_{\lambda}\left(t_{1}+t_{2}\right) u-E_{\lambda}\left(t_{1}\right) E_{\lambda}\left(t_{2}\right) u\right\|_{0}=0, \quad u \in H_{0}^{3} \cap H^{4} .
$$

Hence by the usual argument we conclude that for all $t_{1}, t_{2} \geqq 0$

$$
\left\|E\left(t_{1}+t_{2}\right) u-E\left(t_{1}\right) E\left(t_{2}\right) u\right\|_{0}=0
$$

for all $u$ in $H_{0}^{0}$. Similarly, we conclude from the formula in (2.34) and the fact that $\left\|A_{\lambda} u-L u\right\|_{0} \rightarrow 0$ as $\lambda \rightarrow \infty$ that

$$
\frac{d}{d t} E(t)=L E(t), \quad t \geqq 0
$$

in the strong $\left\|\|_{0}\right.$-sense. Clearly, from the analogous property of $E_{\lambda}(t)$ we have that $E(0)=I$.

All what has been shown says that for all $u_{0}(x)$ in $H_{0}^{0}$, the function $u(t, x)$ $\equiv E(t) u_{0}(x)$, with $E(t)$ defined in (2.48) is a solution of the parabolic initial-value problem (1.6). By the uniqueness theorem the solution so constructed is identical with one defined in (1.8). The proof of the theorem is now complete.

Finally, we add that if the coefficients, $l_{i j}(x), l(x), m_{i j}(x)$ and $m(x)$ as well as the initial data $u_{0}(x)$ are all sufficiently smooth, then the solution $u_{\lambda}(t, x)$ of the problem (1.3) is a smooth function in $t$ and $x$, [10]. In this case, the solution of the problem (1.6) is also smooth in $t$ and $x$, [11]. Thus, under these circumstances the convergence $u_{\lambda}(t, x) \rightarrow u(t, x)$ is point-wise.

University of Illinois Urbana, Illinois, U.S. A.

## References

[1] K. Yosida, Functional analysis, Springer, Berlin, 1965, Chaps. IX, XIV.
[2] L. Nirenberg, On elliptic partial differential equations, Ann. Scuola Norm. Sup. Pisa, Ser. 3, 13 (1959), 115-162.
[3] A. Friedman, Partial differential equations of parabolic type, Prentice-Hall, N.J., 1964, Chap. 10.
[4] P.D. Lax and A.N. Milgram, Parabolic equations, Contributions to the theory of partial differential equations, Ann. Math. Studies, No. 33, Princeton Univ. Press, 1954, pp. 167-190.
[5] K. Yosida, On the differentiability and the representation of one-parameter semigroups of linear operators, J. Math. Soc. Japan, 1 (1948), 15-21.
[6] C. Truesdell and W. Noll, The non-linear field theories of mechanics, Encyclopedia of Physics, Vol. III/3, Springer, Berlin, 1965.
[7] T.W. Ting, Certain non-steady flows of second-order fluids, Arch. Rational Mech. Anal., 14 (1963), 1-26.
[8] G. I. Barenblat, Iu, P. Zheltov and I. N. Kochina, Basic concepts in the theory of seepage of homogeneous liquids in fissured rocks, J. Appl. Math. Mech. (ASME Translations of PMM), 24 (1960), 1286-1303.
[9] G.I. Barenblat and G. G. Chernyi, On moment relations on surface of discontinuity in dissipative media, J. Appl. Math. Mech. (ASME Translations), 27 (1963), 1205-1218.
[10] R.E. Showalter and T. W. Ting, Pseudo-parabolic partial differential equations, SIAM J. Appl. Math. (to appear).
[11] A. Friedman, Interior estimates for parabolic system of partial differential equations, J. Math. Mech., 7 (1958), 393-418.
[12] E. Hille and R.S. Phillips, Functional analysis and semi-groups, Colloq. Publ. Amer. Math. Soc., 1957, Chap. XII.
[13] A. V. Balarkrishnan, Fractional powers of closed operators and the semi-groups generated by them, Pacific J. Math., 10 (1960), 419-437.
[14] T. Kato, Fractional powers of dissipative operators, J. Math. Soc. Japan, 13 (1961), 246-274; II, ibid, 14 (1962), 242-248.
[15] J.L. Lions, Espaces d'interpolation et domaines de puissances fractionnaires d'operateurs, J. Math. Soc. Japan, 14 (1962), 233-241.
[16] S. Agmon, A. Douglis and L. Nirenberg, Estimates near the boundary for solutions of elliptic partial differential equations satisfying general boundary conditions, I., Comm. Pure Appl. Math., 12 (1959), 623-727.
[17] F.E. Browder, On the regularity properties of solutions of elliptic differential equations, Comm. Pure Appl. Math., 9 (1956), 351-361.
[18] S. Agmon, The $L_{p}$ approach to the Dirichlet problem, Ann. Scuola Norm. Sup. Pisa, Ser. 3, 13 (1959), 405-448.


[^0]:    * This research was partially supported by the National Science Foundation under Grant No. GP-7374.

